



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) =$$



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{11}{80}\right)$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{3}{4}\right) = \left(-\frac{19}{20}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(-\frac{3}{5}\right)^3 - \frac{3}{4} = \left(-\frac{483}{500}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{4}\right) = \frac{5}{8}$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{4} = \left(-\frac{39}{100}\right)$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) = \frac{3}{40}$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} = \frac{4}{25}$$

$$\left(\frac{1}{6}\right)^2 - \frac{3}{4} = \left(-\frac{13}{18}\right)$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{5}\right) = \left(-\frac{71}{320}\right)$$

$$\left(-\frac{1}{5}\right) + \left(-\frac{2}{5}\right) = \left(-\frac{3}{5}\right)$$

$$\left(\frac{2}{5}\right) - \left(-\frac{3}{4}\right) = \frac{23}{20} = 1\frac{3}{20}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{3}{5}\right) = \frac{19}{40}$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) = (-1)$$

$$\left(-\frac{3}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{6}{25}\right)$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} = \left(-\frac{371}{500}\right)$$

$$\left(\frac{2}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(-\frac{1}{5}\right)^0 + \left(-\frac{3}{5}\right) = \frac{2}{5}$$

$$\left(-\frac{3}{5}\right)^2 - \left(-\frac{3}{4}\right) = \frac{111}{100} = 1\frac{11}{100}$$